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101|R#A7 L 317 136 181| Kg |EE 1,620 216| 3,240 324
102|357 L 1,650 1,650| Kg S - BIE 3,791 579
111|&EEF £ 134 8 126| Kg |ERES 1,188 ERE - &4 1,728 756
113|RAV S 5 5| Kg FfE 3,240 2,485
114|B5EFE 266 266| Kg e 2,538 216
15[ 1= 4 4 Keg |EE 433 K 4,320 1,620
117[1E 806 365 441 Kg |EE 1,944 32|EE 3,780 54
134[#= 312 142 170| Kg |&)I - £ 2,400 324|% 1| 2,484 1,620
140(5 I 23 23| Kg R 112,320 17,100
147|E2 0 45 45| Kg A - RIG 16,200 10,000
158|EFEA A LS 295 295| Kg BRE 2,052 1,728
201{Lvb L 429 429|  Kg = 360 144
203|/hd L 88 88| Kg ®e 324 270
205|3L8 L 579 579| Kg BER 675 468
206| = 1F 620 620| Kg B 605 389
208|m>% 373 373| Kg L 1,836 503
210|1F ALy 36 36 Kg |Ri& 8,910 2,160
212|&5E.3Y 155 155| Kg =4 - BB 2,160 1,300
222|002 210 210| Kg =5 360 324
251|< %<3 514 514| Kg =] 4,147 3,996
252| VA EECH 165 165 Kg |7 2,603 1,944
254|E b ECH 394 394| Kg =l 2,376 864
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303[A 27z 100 18 82| Kg |EE 792 =E 864 729
305|xAah>0b 24 241 Kg =) 4,860 3,240
3191 h o 134 35 99| Kg [=Z# 1,944 1,728 | &I 1,944 1,307
3321 WA =EF 284 284 Kg i 2,808 1,944
351|4£ 8 8 5 3 Kg [%E 4,104 = 14,040

3541 <Y 45 451 Kg = 2,916 1,404
3/5|HEY 135 135 Kg A - PE 1,620 600
356|L L& 20 201 Kg SER 1,080

3577~ E 23 23| Kg FEE 1,782 648
358| KE 45 451 Kg A0 2,916 1,512
401|H W 93 3 90| Kg |xB 1,620 HE 2,160 1,620
4025 5 &E 10 10| Kg A0 5,670
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A—JLWLh 10 10| Kg 2P 810

AEA L 60 60| Kg JbiF 1,450 950
AERBAT AT 1,060 1,060 Kg 2P 4,320 473
BRCZEZV 64 64| Kg 2yl 1,620 1,200
E A AE 30 301 Kg F 950

TRE 20 201 Kg JbiF 1,296 702
AT Z 285 285 Kg 2P 3,750 980
AR 12 12| Kg JbiF 2,200

AR T 250 250 Kg F 1,080

mET Y 400 400 Kg 2yl 691 529
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70110 BA 1,411 1,267 144 Kg |EE 4,860 1,881|&E 2,376 1,836
705|7=2< ¥ 121 121 Kg Ko 3,618
710(2 2 AT 6 6 Kg Ko 1,404
BlEFAI L 17 17 Kg 8295 864 780
755|FH&» C 21 21 Kg EE 1,026 710
T56(FNET 5 5 Kg Ri& 1,588
76l|b Y AEE 6 6 Kg FJE 3,086
B01[IBAL = 1S 370 370 Kg ¥ -mA 1,728 1,200
802|1 x| 30 301 Kg mE 1,188
8051 1E 38 38| Kg JbiF 972 810
810|FAKF 309 309 Kg bF 2,700 276
8lh|—W T AX 8 8| Kg blo el 1,152
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